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PRIMARY 3
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Class: Primary 3 Register No. Duration: 50 min
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Instructions to Pupils:

1. Do not open the booklet untit you are told to do so.
2. Follow all instructions carefully.

3. This paper consists of 2 parts, Sections A and B
4. ANSWER ALL THE QUESTIONS.

Maximum Marks Marks Obtained
Section A 24 marks
Section B 16 marks
Total 40 marks

* This booklet consists of 14_printed pages (including cover page).
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Section A (24 marks) ‘ Do not write
. . in this space
Questions 1 to 4 carry 1 mark each. Questions 5 to 14 carry 2 marks each. ‘
Write your answers in the spaces provided. Show your workings clearly.
For questions which require units, give your answers in the units stated.
1.~ In 1903, the digit ‘1’ is in the place.
Ans: !
2. 5024 +3601=
Ans: SR ]
3.  Whatis the product of 7 and 87
Ans:
2 (Go on to the next page)



Do not write
in this space
4.  The following items were sold at the bookshop.

apen a book

$1.05 $6.50

What is the total cost of a pen and a book?

Ans:$
5.  Armange these numbers in order.
Begin with the smallest.
1486 - 1864 1684 1468

Ans: , ) '
(smallest)

3 ‘ (Go on to the next page)
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Look at the pattern betow.FWhat are the ‘missing numbers?

5271 (a)? 5071 (b)? 4871

4771

Ans: (a),

(b)

Harry gave some stickers to 9 friends.
Each friend received 6 stickers.
How many stickers did he give altogether?

Ans:
The sum of two numbers is 785.
The smaller number is 246.
What is the greater number?
Ans:

Do not write
in this space

(Go on to the next page)



9.  Raju bought a shirt for $16.50. - Do not write

He gave the cashier $50. in this space
How much change did he receive?

Ans: )

10. Ali packed 847 toys equally into some boxes.
There were 7 toys in each box.
How many boxes did Ali use to pack all the toys?

Ans:
11. There were 258 adults in a park. '
There were twice as many men as women.
How many women were there in the park?
Ans:
5 (Go on to the next page)
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12.

Each school bus can carry 38 passengers. Do not write
How many passengers can 3 school buses carry? ' in this space

Ans:

13.

.

There wére 419 papayas in a farm.
The farmer packed them into bags. 8 papayas were packed into each bag.
How many papayas were left unpacked? -

Ans:

14.

Sarah bought é pair of shoes for $65.70.
Ailee paid $15.95 less for the same pair of shoes.
How much did Ailee pay for the pair of shoes?

Ans: $

6 (Go on to the next page)



~inbrackets[ Jat the end of each question or part-question.
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Section B (16 marks) ' - Do not write

’ » th-
Questions 15 to 18 carry 4 marks each. Show your working clearly and write inthis space

your answers in the spaces provided. The number of marks available is shown

15. There were 3906 visitors at the museum in February.
There were 2019-more visitors in March than in February.

What is the tbtal humber of visitors at the museum in February and March?

»
"
@

Ans: 14] E::

7 {Go on to the next page)
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16.

Mdm Rosie sewed 112 masks on Saturday.

Do not write

She sewed four times as many masks on Saturday than on Friday. In this space

(a) How many masks did she sew on Friday?

Ans: (a)

[2]

- (b) How many more masks were sewed on Saturday than on Friday?

Ans: (b)

12]

{Go on to the next page)
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17.

Caili baked some cupcakes. _
She gave 15 cupcakes to her neighbours.

She packed the remaining cupcakes into 136 boxes.

There were 9 cupcakes in each box.
How many cupcakes did she bake at first?

Ans:

Do not write
in this space

[4]

(Go on to the next page)
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18. ~ There was an equal number of lorries and vans parked
at a carpark at first. 12 vans left the carpark and 19 lorries entered.
There were 64 vans parked at the carpark in the end.

(a) How many vans were parked at the carpark at first?

Ans: (a)

[2]

(b) How many lorries were parked at the carpark in the end?

Ans: (b)

[2]

End of paper

10

Do not write
in this space
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LEVEL
SCHOOL
SUBJECT
TERM

SECTION A

Q1  Thousands
Q2. 8625

Q3. 56°

Q4. $755

QS 1488, 1486, 1684, 18

Q6. a) 5171

Q7. 54 e

Q17. 136 x9=1224
1224 + 15 =1239

PRIMARY 3

ROSYTH SCHOOL
MATHEMATICS
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Q18. a)
b)

64 +12=76
64+12+19=05





